
Имя: 　　　　　　　 Дата: 　　　　　　 Оценка: 　　　

Арифметика показателей (отрицательные
показатели)

(−6) − (−8) =(−2) 2 + (−4) =2

9 − (−3) =(−2) 2 + (−9) =2

(−3) + 10 =(−2) (−1) + (−1) =

(−10) − 9 =2 3 − (−1) =(−1)

(−9) + 2 = 6 + 6 =2

(−1) + (−1) = (−10) + 7 =(−1)

2 + 8 =(−1) 10 + (−1) =2

(−10) + (−9) =(−1) 8 + (−6) =(−1)

(−7) − (−8) =(−2) (−4) − (−9) =2

7 + (−4) =(−2) 6 − 5 =(−2)
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Имя: 　　　　　　　 Дата: 　　　　　　 Оценка: 　　　

Арифметика показателей (отрицательные
показатели)

(−6) − (−8) = = 8(−2)

36
289

36
1

2 + (−4) = 02

9 − (−3) = = 3(−2)

81
244

81
1

2 + (−9) = (−5)2

(−3) + 10 = = 10(−2)

9
91

9
1

(−1) + (−1) = (−2)

(−10) − 9 = 912 3 − (−1) = = 1(−1)

3
4

3
1

(−9) + 2 = (−7) 6 + 6 = 422

(−1) + (−1) = (−2) (−10) + 7 = = 6(−1)

10
69

10
9

2 + 8 = = 8(−1)

2
17

2
1

10 + (−1) = 992

(−10) + (−9) = (− ) = (−9 )(−1)

10
91

10
1

8 + (−6) = (− ) = (−5 )(−1)

8
47

8
7

(−7) − (−8) = = 8(−2)

49
393

49
1

(−4) − (−9) = 252

7 + (−4) = (− ) = (−3 )(−2)

49
195

49
48

6 − 5 = (− ) = (−4 )(−2)

36
179

36
35
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